Text S2: Calculation of inner diameter of the cytoplasmic membrane pore Rv3877.

Rv3877 possess 10 or 11 transmembrane (TM) helices. As the structure is unknown, while calculating
the diameter of the pore formed by Rv3877, the most compact organization of 10 TM helices were
considered, where the 10 helices were arranged one after another forming a compact circle. Figure A
shows a schematic diagram of the arrangement of 10 TM helices. The diameter of each helix being 12

A, the inner diameter of the pore was obtained around 26 A. The procedure is described below.
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Figure A: Compact arrangement of 10 Tm helices.

The inner diameter of the pore can be obtained from the expression mentioned below.
2I1(r+6)=10*diameter of one TM helix where, r=Radius of the pore
r+6=(10%12)/211
r=13.1A

2r=26.2A



